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[bookmark: _GoBack]Transformatör 50 Hz lik  , 1000 V ‘luk kaynağa bağlı iken histeresiz kaybı 650 W ve fuko kaybı 350 W dır. Eğer transformatör 100 Hz lik ,  2000 V ‘luk kaynak gerilimi uygulandığında  yeni  histeresiz ve fuko kayıplarını hesaplayınız.
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Solution.  Hysteresisloss W, = BLS r= PES r

Eddy currentloss W, = B 1 = QB £
From the relation E = 444 (N, A volt, weget B, = Hf
Purting this value of B, inthe sbove equations, we have

e Ul

Inthe first case, E = 1000V, f=50Hz, W, = 650 W, W, =350 W
650 = Px 1000 x 507 o P=650 x 10007 x 50"
Similarly, 350 = Qx1000° . Q=350 x 1000~
Hence, constants Pand Qare known.
Using them in the second case, we get
W, = (650 x 10007 x 50°) x 2000'* x 100 = 650 x 2 = 1300 W
W, = (350 x 10007%) x 2,000% =350 x 4 = 1,400 W
. Core loss under new condition is = 1,300+ 1,400= 2700 W
Alternative Solution
Here, both voltage and frequency are doubled, leaving the flux density unchanged.
With 1000 V at 50 Hz
W, = Afor 650 =S0A; A=13
W, = Bf or350=Bx50"; B=750
With 2000 V at 100 Hz
W, = Af=13x100=1300 W and
W, = Bff=(7/50) x 100 = 1400 W
Newcoreloss = 1300+ 1400 = 2700 W




